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QUESTION 1

Which of the following statements are true? SELECT ALL THAT APPLY 

A. A service can be comprised of one or more components. 

B. A service inventory is comprised of a collection of services. 

C. A service composition is comprised of a set of aggregated services. 

D. A service-oriented solution is comprised of a set of service inventories. 

Correct Answer: ABC 

 

 

QUESTION 2

In order to achieve we have traditionally required projects. With service-orientation, we aim to establish an intrinsic level
of within each service so as to reduce the need for effort. 

A. vendor diversity, integration, vendor diversity, design 

B. agility, development, scalability, development 

C. interoperability, integration, interoperability, integration 

D. autonomy, integration, statelessness, integration 

Correct Answer: C 

 

 

QUESTION 3

Which of the following is a recommended or common part of a service-oriented enterprise? 

A. business services 

B. service registries 

C. service contracts 

D. all of the above 

Correct Answer: D 
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QUESTION 4

Project Team A delivers Domain Service Inventory A with 20 services. If Project Team B delivers Domain Service
Inventory B with 50 services, how many services are in the Enterprise Service Inventory? 

A. 20 

B. 50 

C. 70 

D. An enterprise service inventory is not comprised of domain service inventories. 

Correct Answer: D 

 

QUESTION 5

Which of the following statements is false? 

A. Service-orientation is a design paradigm that must be applied on an enterprise-wide basis in order to be successful. 

B. Service-orientation is a design paradigm comprised of a set of design principles. 

C. Service-orientation is an evolutionary design paradigm that has been influenced by older, established IT paradigms
and platforms. 

D. Service-orientation is applied to logic in order to create service-oriented logic. 

Correct Answer: A 

 

QUESTION 6

I built a service-oriented solution a year ago comprised of 3 services. I\\'ve just been told that the business process
automated by the solution is going to be replaced by a new business process that introduces some changes to how the
business process logic needs to be automated. What should I do? 

A. Replace the solution with a brand new service-oriented solution comprised of new services designed specifically to
automate the new business process. 

B. Identify the services within the solution that are no longer relevant to the new business process and permanently
retire them so that no other service-oriented solution inadvertently uses them. 

C. Assuming there is an established service inventory in place, attempt to locate any existing services that can provide
the logic required to automate the new business process and then change how the services within the solution need to
be composed, as required. 

D. Due to the fact that service-oriented solutions are inherently unable to adapt to business process change, you should
investigate for how long you can continue to use your current solution. Even if it does not exactly provide the
functionality required by the new business process, it is still likely to automate a subset of the new business process
logic, thereby providing you with an opportunity to continue to get some value from the solution before you are forced to
retire it. 

Correct Answer: C 
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QUESTION 7

The use of services tends to the size of service compositions. 

A. autonomous, increase 

B. stateless, decrease 

C. scalable, decrease 

D. agnostic, increase 

Correct Answer: D 

 

QUESTION 8

A service consumer must exist as a service-oriented software program. Select the correct answer. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 9

The Universal SOA Commission (USOAC) has been standardizing the service-oriented architectural model since 1998.
Their role is to regulate the marketplace to ensure that all usages of the "SOA" acronym for branding purposes are
legitimate. They enforce this via product assessment and certification, a process that all of the major software vendors
follow to obtain official USOAC certification. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 10

Which of the following statements is false? 

A. Industry standards are usually produced by standards organizations. 

B. Industry standards are usually created by standards committees so that they do not favor any one vendor or
organization. 

C. The use of industry standards alone automatically results in fully standardized service-oriented solutions. 
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D. XML is an example of an industry standard. 

Correct Answer: C 

 

 

QUESTION 11

XML and XML Schema are examples of: 

A. custom design standards commonly used by service-oriented solutions 

B. custom design characteristics commonly found in service-oriented solutions 

C. industry standards commonly used by service-oriented solutions 

D. industry characteristics commonly found in service-oriented solutions 

Correct Answer: C 

 

QUESTION 12

Which of the following statements is true? 

A. Organizational agility can be viewed as the ability of IT to rapidly produce new legacy applications on-demand. 

B. Organizational agility can be viewed as a state whereby the organization increases its responsiveness with the
support of a more agile IT enterprise. 

C. Organizational agility can be viewed as a tactical benefit that empowers the organization to respond to new business
requirements by building new applications from scratch each time. 

D. Organizational agility can be viewed as the ability of IT project managers to rapidly replace slow performing
programmers without jeopardizing project delivery schedules. 

Correct Answer: B 

 

QUESTION 13

Which of the following statements is true? 

A. For a service consumer to interact with a service it must comply to the requirements of the service contract. 

B. The service contract is used to express meta data about a service for human consumption only, and compliance to
the service contract by service consumers is therefore not required. 

C. Service contracts are only used to access a service when the service consumer itself is not a service. 

D. All of these statements are true. 

Correct Answer: A 
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QUESTION 14

Which of the following statements is true? 

A. To apply service-orientation requires the use of Web services. 

B. Web services are required in order to build service-oriented solutions. 

C. When discussing SOA and service-oriented computing, the term "Web service" must always be synonymous with
(have the same meaning as) the term "service". 

D. None of these statements are true. 

Correct Answer: D 

 

QUESTION 15

By applying a strategic scope to the technology architecture, it can be kept in constant synch with how the business
evolves over time. 

A. consistently decreasing 

B. middleware-centric 

C. vendor-driven 

D. None of the above answers correctly complete this sentence. 

Correct Answer: D 
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